Radian

Degree sin() cos() tan() = —
0 0 0
30 /e Vi o1 V3 /) 1
€ 2 2 2 (v3/2) V3
£ % s vz vz (2/2) _
& 2 2 (v2/2)
, 60 /s V3 Vi1 (V3/2) _
2 2 2 (1/2) 3
90 m 1
/2 §=1 ?:0 6:undef
120 2/, V3 Vi1 (V3/2) _ 3
. 7 27| Gp
S 135 31/, V2 V2 V2/2)
E 2 2 (=V2/2)
9 150 571/6 Vi 1 V3 (1/2) _ _i
& 2 2 2 (—V3/2) V3
180 T VO Vi o _ 0
— =0 - =-1 1
210 Ty, Vo1 V3 -1/2) _ 1
5 2 2 2 (—V3/2) 3
5 225 51/, V2 2 (—2/2)
E 2 2 (=V2/2)
& 240 4m/. V3 Vi1 (=3/2) _ =
:, 3 2773 SO
270 31/, _@ . ? L %1 — undef
300 51/, RE Vi (—3/2) 7
5 2 2 2 1/2
£ 315 7, V2 V2 (—v2/2)
S 2 2 (Vz/2)
& 330 lin/, Vi1 V3 Y2 _ 1
& 22 2 (v3/2) V3
360 2m NG Va 0_
- =0 - =1 ="




